
PCD File # PPR 1916



BUILDING ENTRANCES!!!!!!







Existing Asphalt Property Line

28' to closest Property line

PCD File # PPR 1916

Zone: I-2 CAD-O

Single Bicycle Parking Space There is no future building anymore

Lindsay Darden
Text Box
Remove pages 5-9 from this document. It is supposed to be just the floorplan drawings. We have the other drawings in another submittal item so no need for duplication. 



Bryan Dorman
8569 Valley Ranch Pt.
Fountain, CO 80817

I-2 CAD-O

54062-04-026

1.42

10,538 SF

3 Employees + (4 Bays x 3 Spaces) = 15 Parking Spaces

1 Space

15 Spaces There were 15 spaces on the original blueprints however there 
is room for 26 parking spaces on the lot. 

15 spaces x 0.05 = 0.75 bicycle parking spaces

Single bicycle parking space will be provided indoors.



\.. . '� ' 

\) 

.. ' 

" 

�.; 

Iii· .. , 
J: 

,. 

,,.:··· 

' . 

\. 

; -­
� i 

t.', __ 1 -

, l  _:.,, ,-; ·. .
' a' -� ·: 
!-'} ' 

-�

. ..

' 

QJ 

.. , � ,-, 

.8 
3 

-U.· 
c. 

"' 

QJ 

·s

3 
cu 

'll 
0 • 
::,. 

·u

E 

8 

E 

3 

cu 

i 

... 

., 

.u 

ij 

c 
'iJ

f 
0 

. :-- ·, :• ·1J;·1,i�

\ 

··� 

<]). 

. t .-

J 

CONG. Cl.JR$ 4 GlJTTER 
PER CITY SPECS. 

·----'---------

• 

_,..""- -,, 
,_____::,'PAINTED STRIPIN6

/ PER CITY SPECS., 
TYP. 

\ 

\ 
•. 

\ 

\ 

CONG. C,IJRB 4 <SUTTER/ 
PER G!TY SPECS . 

3" BASE COURSE, 
5" ASPHALT LIFT 

-----1-1--- --- \\ 

@
FLOOR PLAN 

SCALE, 1/8' • l'-i:,• 

\ 

\ 
\

\ 

\ 

' . 

• • 

3' BASE COURSE, ------­

__.;-.-- 5" ASPHALT LIFT 

• • • • 

. •' 

· PAINTED 5TRIPIN6

• • 

- PER CITY SPECS., TYP.

. ; ., 

' . 
. ) 

.. : 

·,,,

. '·'' 
;.: 

/'VAi02 

v 

' 

_., 
! 

\ 

' 

' 

• • 
, &  

\ 
\\

.. 

' 
' 
' 

. 

\_ e,�C. OJRB t � 

' 

. 
PER CITY SPECS. -..../ 

' 
' 
' 
' 

• 

' 
' 

"' 

I
3" BASE COURSE, s· eA!;E COURse, PAINTED 51'RIPIN5 

PER Gin' SPECS., TYP./ 

-➔,;...

•• 1-4 

+r.---1--
"t :· . 

+"----�- - -· ,, '

1 •.

OFF 

• OFF .
G 

G 

1'-6' 

!,-­
'; 
I• 

l-··,,1----.

-
' 

i i ' ' 
CONG. HALK, CURS 
4 6'UTIER PER 
GITY SPECS. 

Y .

i ·-
!q

:__i 
r.:=:====:;:::::::i==A �t:::::::;::===;:======;:::::::;"1-t,;:c 

� I< 
.. 

'•.·" 

f'-0" -"'.-!I!.'- - � - - - - -
D 

~ .'t-
·-�-L ')11------------' . _,;,• """ :�-m- -,-. . . I 

i • l ,REC.EPT. 

I 
I 

O_FF. ··:-_; n 

I • 

't- \j BREAK 
-

I
,�: ;�P:C
�__o/: -� >,'i

11-6• ; 

�- j\,.,,.,.___,___, ' 
21 \ 

f'·�
I 

' 

' 

a..R. ' ·, :l!II 
__ Fll\_,,,.._ . ...j '-.._ _ _  

,. 

I HR. RATED Y'IALL 
5/8" TYPE ."X" 6YP. BD. 
ON BOTH SIDES OF 
STUDS AT 16" o.c .

1 HR. RATED v-lALL 
5/8" TYPE "X" GYP. 
ON BOTH SIDES OF 
STUDS AT 16" O.G .

eo. 

NOTE, UNLESS NOTED 
OTHERWISE, ALL INTERIOR 
STUD Y'IALLS SHALL 
HAVE 5/B" 6YP. BD. ON 
BOTH SIDES OF STUDS 
AT 24" 0.G., V'V SOUND 
BATT INSUL. TYP. 

5" CONG. PYMT-:- -\
\ 

• • 

6" DiA. PIPE BOLLARD 3'-0" 
TALL, FILL v-llTH GONG., SET 
IN 1'-0" DIA. CONG FOOTIN6, 
30" DEEP, TYP. AT ALL 
OVERHEAD DOORS ,

"--..

I 
I 

' 

I 
I 

5" GONG.

_. 

f;MT�\ . 

I 

\ 

- -- - --

\ CONG. CURB 
' t 6UTTER PER 

CITY SPECS. 

• 

0 

\ 

\ 

\: 

i 
I 

I HR. RA TED IA\ALL 
' 5/8" TYPE "X" 6YP. Bb . 

ON BOTH SIDES OF 
STUDS AT 16" O.C,.

( 

I 
I 

l \ 1· I 
�-=,.....�-_j1-�----'------..J·�·:it·--.,: ___________ � ___ _,'�--9:. 

I HR. RATED li'IALL �-........,-
5/B" TYPE "X" 6YP. SD . 
ON BOTH SIDES OF 
STUDS AT 16" O.G. 

\ 

. I . ·1 ·
NOTE, NO. SLAB �T TIME OF CONST.··-.: FLOOR Dt:1. INS 

'· 
. -· J 

TO BE INSTALLEC1 AT TIME OF SLAB C,ONST. _AT 5;3 AREA 

'. 

; 

' 

:i_ ;· ... 

l 
�-Q".-":�--t---------------------�---......,..---.......:----�----..:......------..C.....--...:....:...... _________ ..c....,...:.._� ___ _:. _______ -'-'--�--'--;_J.

\ 

\ 
\ 

\, / 

\ 
\

\ 

v-lIND6W TYPE A - 1• INSlJL. 
5'-0" X 4'-0" SLIDER 
� INSECT SCREEN 
HEAD AT 1'-0" A.F.F. 

lt'IINDOW TYPE B � I" IN�. 
B'-0" X 4'-0' SIN6LE HUNG 
l"v' INSECT SCREEN 
HEAD AT 1'-0" A.F.F. 

WINDOl-"I TYPE C. - WIRl:D 
3'-0" X 4'-0" FIXED 

. WI I HR. RATED FRAME 
HEAD AT 1'-0" A.F.F. /'\._. 

B/AI02 

' 

. , 
S•' ,; _, >-

,, 

·- _, ' ' 

·'

I 

I 

J 

r'

I 

I 

I 
, ..I 

' 

i 
i 

, CONG.Y'IALK,C,IJRB 
1-....._ 4 <SUTTER PER 

CITY SPECS. 

G) \6/ll��

' 
'. ;._,_ 

!NGU L
('v1 t!J 
�c; 

. e 

• 

. ' 

' 



-

MBR LOW PLATE 
100 WIDTH THICK 

A 8.00 0.50 

B 6.00 0.63 

C 6.00 0.50 

D 6.00 0.63 

0 
I 

.. 
N 

12 
o.5or---

1•-4• 1•-4• 

12 
� 0.50 

�2'-6 5/16. ------------'-\-i r=z';=��====�::-----�=��-��-----------------1'-2 5/16" -
\ 

-
5

•-o·==�z=�==��=5�' o· --r-�
5

•
-0· I ,·-•· k f l ,_,. r1 --=--.:

5' 
a::.___· 11 ������=a5•-0· 

32'-s 5/is· 

5' o· s·-o· 5•-0· 

Uk 
) ,; ,i {, ,. 1 ,, � I:' 

s·-o· 5' a· ' 

,� 
t 

-
ri,t" =�=;l=·- =--j:=-====r==r==-r=---_--_--rL·--· _----L-·c_·-_--_--_.__r-

]ll[
�I--_--_--7-L·-_--_--�--TC.I --====r:=r==i=

==

:±��==i 
�� e

\" 
-- -- --c·- -- --

I 

I 

�i �� 
-- -- .. T -- --

··7--
-- -- -T--

I:' 
t� 

--
---i-:7'

iIT] ' ' 

! 
rec 
NS/FS 

' 

! 
t 
i
i . 
I 

® @ I' 
I'. 
i 
i'
i' 

,e---Il!C---' 
NS/fS i ri 

"' 
I 

I 
i
i' 
r . 
I ''
! 
I 

! 

' ! 
., "' 
Si 
a, "'

81 
�

0 Z 
N � 

� 
u 

! 
si 
'l' el 
0 i "' � 

. 

. 
! 

!I' I 

� 
!
i' '
! 

© I 
i.,,,.____,, _____ i FIN. FLR. ELEV : 100'-0" ---

"".,Biciornn'na;; .. ,oiFF1
BAS

¼S!E�P�LA;-;-TEC
:...;....c..;;..__:...;.. __________________________________________________________________ L ____ _J_l..J

p 

ELEVATION � 100·-o· 
B

£J,9A�lo� �5!;>-!'b�' 

\ 
b 

1·-2 5/16" 

'io 
I "' 

rec 
NS/» . 

'io I "' 

rec 
NS/fS � I ... 

N . .,I "' 

��)s Y
,c: 

;., I 
;... 

•. 

o·-a· 1'-1 1;a· 

·--=---.\ (;, ___ 61 '-6 1/4" 

1·-0 5/8" • 

f""l'"--'->1" ___________________________ __:_:___:__:.'.....:.__ __________________________ _  1.\U1J,I �(,\UW\L BLCG DEPT
65'-o' 

--

\ 

® -
CROSS SECTION @ LINES 2"-6 

® -

HIGH PLATE OUTSIDE FLANGE INSIDE FLANGE MEMBER WEB 
WIDTH THICK WID1H THICK LENGTH WIDTH 1HICK LENGTH DEPTH THICK 

6.00 0.63 6.00 0.50 279.56 6.00 0.63 246.13 13.13 0.175 
33.13 0.275 
33.13 

6.00 0.63 6.00 0.25 121.69 6.00 0.31 348.31 32.56 0.225 
6.00 0.31 226.19 29.81 0.200 

24.63 

6.00 0.63 6.00 0.25 279.56 6.00 0.38 246.13, 12.63 0.175 
I 32. 63 0.275 
I 32.63 

6.00 0.63 6.00 0.25 121.06 6.00 0.31 348.56 32.56 0.225 
6.00 0.31 227.06 29.61 0.200 

24.63 

LENG1H 
245.33 

34.23 

121.69 
226.22 

245.33 
34.23 

121.06 
227.09 

BOLT SCHEDULE 

CON I BOLT! BOLT BOLT J NUT 
ID0 QTY DESCRIPTION PART# PART# 

1 8 BOLT/NUT 3/4" X 2 3/4" A325 H0630 H0320 
2 8 BOLT/NUT 1/2• X 2• A325 H0603 H0300 
3 8 BOLT/NUT 5/a· X 2 1/4" A325 H0610 H0310 
4 8 BOLT/NUT 1• X 3 1/4" A325 H0640 H0330 
5 8 BOLT/NUT 1 1/4" X 3 1/2" A325 H0660 H0340 

NOTES: 

1) FOR COLUMN AND RAFTER MARK NUMBERS, SEE EITHER SHEET E1 (ROOF 
FRAMING PLAN). 

2) FBC __ INDICATES FLANGE BRACING LOCATIONS ON PURLIN ROOFS. 

FBD __ INDICATES FLANGE BRACING LOCATIONS ON JOIST ROOFS. 

3) NS/FS INDICATES THAT FLANGE BRACING IS REQUIRED ON BOTH SIDES OF 
THE FRAME LINE. NOTE FOR EXPANDABLE ENDWALL RIGID FRAMES: IF FLANGE 
BRACING IS REQUIRED ON BOTH SIDES OF AN EXPANDABLE ENDFRAME, THE 
OPPOSITE SIDE FLANGE BRACE WILL HAVE TO BE INSTALLED AT THE TIME OF 
EXPANSION. THESE FLANGE BRACES HAVE BEEN PROVIDED, AS REQUIRED, FOR 
THIS FUTURE CONDITION. 

4) IF NS/FS FLANGE BRACING IS NOT INDICATED, ONLY ONE FLANGE BRACE IS 
REQUIRED AND CAN BE LOCATED ON EITHER SIDE OF THE FRAME. 

5) ••• INDICATES THE LONG SIDE OF INTERIOR COLUMNS. IF INTERIOR COLUMNS 
ARE REQUIRED, ORIENT AND ERECT THOSE COLUMNS ACCORDINGLY. NOTE: 
COLUMNS LOCATED AT THE RIDGE ARE TYPICALLY "FLAT-TOP" COLUMNS, UNLESS 
INDICATED BY THE ••• SYMBOL. 

6) RIGID FRAMES SHALL HAVE 50:r. OF THEIR BOLTS INSTALLED AND TIGHTENED 
ON BOTH SIDES OF THE WEB ADJACENT TO EACH FLANGE BEFORE THE HOISTING 
EQUIPMENT IS RELEASED. 

� 
,�I i

I' 
,,, 

"(\ 

C ';l 
I� .... I 

w I
I I 

(L I I I 
" ·, 

� 3 " 
'.< i 

! I I u ! 

z le.! 
!t

I 
" !Ill C 

□:■ Dill 

:0"' 
v) 0 
'!' I 

z z .. 
B t; 

§,� ffil, 

1i� � z"' 
ow (.) (l. .: 

"'" 0 ,.._ "'-
cr,CJJ - N -

Q. ,......, m- ..."',.._ NN "' 
::) ..,. I u' 

01 
,.._ Vl 18 "'" ..., -c--. �"" i:5 "' i(?.o 

a: Vl� � 
CD 

o"'m' z"' N 
o-

<( 0 �§,..J N �"" 
Ill o::� vi� 

w .. _J 

g� 
_J .. 

i �� wX 

o::< 
Ill �LL LL 0:: LL 

ll 
I.LI w ... 

'i-
z 

I-,.._ 

� 
oo 

� Ol I- 0 
d�

a 
"' "" bN 0::,... <.o 

Ill < I :,: I o:: I 
a." �"' I- ... 

u 
ta 

..., g!:5 wN 
_J"' :c If) 

l <( N� 
�Nii:O) ·"' 

.. >- - <OD a. ,._ 

J
Q VlN 0(0 <e ::i� o� 

0 0 
;f W xW 0 .. 

z: 
.. lOW 
::i 

z oz 

,no CDO 0 
Ill o:r: :c :r: 

,.., a. 00. a. a. 

0..: 
Ct'. 
0 
u 

U) 

0 Ct'. 0 
z u w u 
<( 

ui 
0 

ui 2 ....J 
Cl - Cl 

Cl:'. � ::) w er: m a:: � CL [L 
u (/) 0 (/) 

w <( 0 z 0 " 0 <( 0 >- <i: Ii,: _j <i: 
u Ct'. �I 

D:'. 
v <( 0 0 w ..J �l? ...J 

O:'. 0 v,- 0 " f--- u i3I u "-
J0t3 NL,M8ER 

T1L2087A 

Sh[[:" :.o. 

E2 of \\ 

THIS SEAL PERTAINS ONLY 
TO THE MATERIALS DESIGNED 
AND SUPPLIED BY NUCOR 
BUILDING SYSTEMS, A 
DIVISION OF NUCOR 
CORPORATION. THIS SEAL 
DOES NOT SERVE AS OR 
REPRESENT THE PROJECT 
ENGINEER OF RECORO AND 
SHALL NOT BE CONSTRUED 
AS SUCH. 



CROSS SECTION @ LINES 2 -3

NOTES: 

1) FOR COLUMN ANO RAFTER MARK NUMBERS, SEE EITHER SHEET El 

FRAMING PLAN). 

2) FBC __ INDICATES FLANGE BRACING LOCATIONS ON PURLIN ROOFS. 

F80 __ INDICATES FLANGE BRACING LOCATIONS ON JOIST ROOFS. 

(ROOF 

3) NS/FS INDICATES THAT FLANGE BRACING IS REQUIRED ON BOTH SIDES OF 
THE FRAME LINE. NOTE FOR EXPANDABLE ENOWALL RIGID FRAMES: IF FLANGE 
BRACING IS REQUIRED ON BOTH SIDES OF AN EXPANDABLE ENDFRAME, THE 
OPPOSITE SIDE FLANGE BRACE WILL HAVE TO BE INSTALLED AT THE TIME OF 
EXPANSION. THESE FLANGE BRACES HAVE BEEN PROVIDED, AS REQUIRED, FOR 
THIS FUTURE CONDITION. 

4) IF NS/FS FLANGE BRACING IS NOT INDICATED, ONLY ONE FLANGE BRACE IS 
REQUIRED AND CAN BE LOCATED ON EITHER SIDE OF THE FRAME. 

5) RIGID FRAMES SHALL HAVE 50% OF THEIR BOLlS INSTALLED AND TIGHTENED 
ON BOTH SIDES OF THE WEB ADJACENT TO EACH FLANGE BEFORE THE HOISTING 
EQUIPMENT IS RELEASED. 

•. 

\ 
I­
I . "

<O w 

BOLT SCHEDULE 

CON BOLT BOLT 
IDO QTY DESCRIPTION 

8 BOLT/NUT J/4" X 2 J/4• AJ25 
4 BOLT/NUT 1/2" X 2' AJ25 

2 BOLT /NUT s;s· X 2 1 / 4" AJ25 

BOLT NUT 
PARTI PART# 
H0630 H0320 

H060J HOJOO 

H0610 HOJ10 

8 BOLT/NUT 1• X J 1/4• AJ25 H0640 H0330 

8 BOLT/NUT 1 1/4" X J 1/2" AJ25 H0660 HOJ40 

-

I I 

;..... I­
Q'. 
6 

r !I I !
� 

:s 
u 

• w 
0 Cl 

I S 
;..... 

FIN. FLR. ELEV 

BOTTOM OF BASEPLATE 
ELEVATION = 100'-0" 

100'-0" 

13'-3 1Xs" 

15'-0" 

--- - ---------- -
---

- -
---

--
---

--
----

\
-

0 
z 
w 

□■□

0 w "' 

::, "' 
V, 0 
!I! :c 

- �

,;j 

:'i 
z 

ti 
Lu 
a 
"' 
0. 

z 
<( 

2 
O::'. 
w 

::'1'.'. 
u 
<( 

>-
u 
<( 
O::'. 
I-

JOB NUMBER: 

<( 
O::'. 

0 
Q_ 
O::'. 

0 
0 

U) 

0 O::'. 
u w

vi 
0 
_j 

(.:J 
::J z 

cc m 
0.. 
(fl 0 

0 z 
0 <( 
<t: _j 
Q:'. I 0 
_J (_') 
0 
u I

T1 L2087A 

SHEET NO: 

E3 of I\ 

\ 

0 
u 

vi 
(.:J 
z 

Q'. 
0.. 
(fl 

0 
0 
<t: 
Q'. 
0 
_J 
0 
u 

THIS SEAL PERTAINS ONLY 
TO THE MATERIALS DES!GNED 
ANO SUPPUED BY NUCOR 
BUILDING SYSTEl.<S, A 
DIVISION OF NUCOR 
CORPORATION. THIS SEAL 
DOES NOT SERVE AS OR 
REPRESENT THE PROJECT 
ENGINEER Of RECORD ANO 
SHALL NOT BE CONSTRUED 
AS SUCH. 



Markup Summary

Subject: Text Box
Page Label: 5
Author: Lindsay Darden
Date: 5/15/2019 2:23:22 PM
Color: 

Remove pages 5-9 from this document. It is
supposed to be just the floorplan drawings. We
have the other drawings in another submittal item
so no need for duplication.

5/15/2019 2:23:22 PM (1)

PCD File # PPR 1916

Remove pages 5-9 from this document. It is supposed to be just the floorplan drawings. We have the other
drawings in another submittal item so no need for duplication.


	Paint booth plans
	Site Plan NEW.pdf
	Original Site Plan Modified copy.pdf
	Blank Page

	Blank Page




